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Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which one of following is the correct translation of Henri Fayol’s book, Administration and
Industrielle et Generale ?
(1) General and Industrial Management
(2) General Administration and Industrial Management
(3) General and Industrial Administration
(4) Industrial and General Administration
2. Assertion (A) : Woodrow Wilson enacted many of the reform proposals that were
considered part and parcel of the progressive movement.
Reason (R) : Woodrow Wilson rejected the idea of comparison in public administration.
Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
3.  Mary Parker Follett believed in the idea that power is a source of :
(1) Conflict (2) Ability to make things happen
(3) Exploitation (4) Domination
4.  The discovery and application of Universal and Scientific administrative principles that can

improve any organisation’s efficiency and effectiveness, is called :

(1) Scientific Management Theory

(2) Bureaucratic Theory

(3) Administrative Management Theory

(4) Human Relations Theory
5.  The essay entitled ‘“The Science of Public Administration : Three Problems” was authored

by :

(1) Herbert A. Simon (2) Dwight Waldo

F. C. Mosher (4) Robert Dahl

ST :
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6.  Which of the following is not included in the driving needs of the self-actualizers by Abraham
Maslow ?
(1) Perfection (2) Uniqueness (3) Dependency (4) Goodness
7.  Match List-I with List-II. Select the correct answer from the code given below :
List-I List-II
(Concept) (Explanation)
(a) Planning (i)  Establishing the formal structure of authority
(b) Coordinating (i) How to do and what to do ?
(c) Organizing (iii) Fitting persons to the structure/job
(d) Staffing (iv) Inter-relating the various parts of the work/organization
Code :
@ () © @
O O @ @ W
@ @ ) @ )
@) @ @6 @ W)
@) (v @ O G
8.  Who among the following treated administrative system as ‘Steady State” system ?
(1) Woodrow Wilson (2) Max Weber
(3) Peter Drucker (4) Karl Marx
9.  Which of the following statements is correct about the human relations movement ?
(1) Building theory based on having better relationship with each other
(2) The workers are irrational in their approach
(8) Taylor’s followers thought his ideas are better than Elton Mayo
(4) Workers” productivity is not the result of working conditions but the result of emotional
response of the workers to the work performed
10. Which one of the following is not a merit of Centralization ?
(1) Facilitates Personal Leadership
(2) Improves Efficiency
(3) Effective Communication
(4)  Uniformity in Action
s R ;
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11. Which one of following has major impact on Herbert Simon, when he was writing
‘Administrative Behaviour” ?
(1) M. P. Follett (2) Elton Mayo
(3)  Gulick and Urwick (4) Chester I. Barnard
12.  Which of the following, according to Warren Benis, distinguishes a manager from a leader ?
(a) The manager accepts the status quo while the leader challenges it.
(b) The manager follows the rule and regulation while the leader formulates rules and
regulation.
(c) The questions of manager are how and when while these are what and why in case of
leader.
(d) The focus of the manager is the system and structure of organization, while the focus
of leader is people.
Select the correct answer from the code below :
(1) (@), (), ©) and (d)
(2) (a), (b) and (0
(3) (a) (b) and (d)
(4) () (0 and (d)
13.  Which of the following statements are correct regarding the features of delegation ? Select
the correct answer from the code given below :
(a) Itisirrevocable
(b) It relates to authority
(c) It can be general or specific
(d) It relates to the position
Code :
(1) (a), (b) and (©)
(2) () () and (d)
(3) (), (b) and (d)
(4) (a) (9 and (d)
14. According to Karl Marx, which of the following is not the correct source of historical origin
of bureaucracy ?
(1) Religion (2) Agriculture
(3) Commerce (4) Formation of state
15. Which of the following statements about the merits of comparative public administration is
not correct ?
(1) It has expanded the scope of the research in social sciences
(2) It has helped generalization and the process of theory building
(3) It has helped analysis of different administrative systems of the world
(4) It has constrained the philosophical horizon of the students and administrators
e [ LATHIARAIN ;
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16. Which one of the following is incorrect regarding the characteristics of Sala Model as
enunciated by Riggs ?

a
2
3
(

)
)
)
4)

Incidence of unofficial influences in decision making
Absence of agreement about values
Incidence of normlessness

Absence of polynormativity

17. Which one of the following U.S. Agencies manages the civil services of Federal Government ?

1)
(2)
®)
4)

United States Civil Service Commission
Federal Labour Relations Authority (FRLA)
Office of Personnel Management (OPM)
Office of the President

18. Consider the following statements about British Prime Minister and select the correct answer
by using code given below :

(@)
(b)
(©)
(d)

There is no constitutional definition of the British Prime Minister.
The powers of British Prime Minister are matter of conventions and usage.
The Prime Minister by tradition is First Lord of Treasury.

He is usually the Minister for the Civil Services.

Code :

(1)
()
€)
4)

19. Which one of following statements is not correct about the Civil Service Code of United

Kingdom ?

(1) It forms part of the terms and conditions of civil servants.

(2) The Civil Service Commission hears complaints under the code from civil servants.

(8) The code covers honesty, integrity, impartiality and objectivity.

(4) It covers disagreements about the merits of policy and management decisions.
s T :
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20.

21.

22.

Match List-I with List-II. Select the correct answer from the code given below :

List-I List-1I
(Name of British Committees) (Related with)
(a) Fulton Committee (i) Standards in Public life
(b) John H. Whitley Committee (ii) Generalist and Specialist administration
() John Whytt Committee (iii) Disputes Settlement on service conditions
(d) Nolan Committee (iv) Parliamentary Commissioner for
administration
Code :
@@ (b) () (d)
® @ @) @ @G
(2) @) (@) (@Gv) @)
G) @ @ @) @)
@ O @) @ ()
Match List-I with List-II and select the correct answer by using the code given below :
List-1 List-1I
(Author) (Book/Work)
(a) U.L. Goswami (i)  The Methodology of Social Sciences
(b) Robert K. Merton (i) The Structure of Development Administration in India
(c) Peter Blau (iii) Reader in Bureaucracy
(d) Max Weber (iv) Bureaucracy in Modern Society
Code :
@ (b) (9 (d)
O O 6@ @ W)
@ @ O G G
@) v @) @ 0
@) @ @ @) 0

Assertion (A) : A cross-culture and cross-temporal approach made Weber’s administrative
analysis substantially ecological in character.

Reason (R) : Weber studied the socio-cultural and economic conditions which stimulated
the growth of bureaucracy, particularly in the West.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false.

(4) (A)is false, but (R) is true.

a1 LT 10



20. G-I 61 Gei-11 9 Afad ifse | == fu T e 9 92 39 1 7=1 FifSw |

eI HE-11
(fafest wfafaai o ) (9 ¥ a5 §)
(a) Ppoed Hiafd () SR Sfted § A
(b) i =, fegeer wfafa (i) I SR forde T
(c) S =rEe |fufa (iii) e ol Heel faarei =1 foer
(d) e gfafa (iv) TRMEA % foau oc gE
<
@ (b) (9 (d)
1 @ @) @ ()
2) @) @) @) @
®) (@) @) @) (i)
4 @@ (v) @) (i)
21. G-I 1 Gei-11 § gafaa St | F ST T8 e 9 T8t ST & =97 ST
eI i1
(T ) (q&Teh /i )
(a) TS T () T ASErST 3w Trere e
(b) T . WA (i) T LFR Ah STATH TSHMEIA 37 sfea
() WX == (i) TS 37 IHE
(d) T IR (iv) UK 37 Aled Frger
e
@ (b) (9 (d)
® @ @) @) (i)
) @) @ Gv) (i)
®) (v) @) @ @
4) (@) @) @) @
22. aafuere (A): wfa-TeRfa iR gfa-clifere 3urm 3 IR & gemafier faverwo & af & wret
TATEROT AT R |
e (R) : FeR 7 37 FrHISIh-HiEhfaeh iR enifefer fearfaai o1 stezem foman o fomioent
e § Arenel o foshr ot Saia e
<

(A) @ (R) SHI T&l € 91 (R), (A) S T ST 7 |
(A) T (R) SHT &t €, TG (R), (A) I 6 =& T T
(A) & €, T (R) ToTd T

(A) T T, TG (R) Tl T
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23.

24.

25.

26.

27.

According to F.W. Riggs, which one of the following is not a feature of Prismatic Society ?
(1) Selectivism (2) Particularism

(3) Attainment (4) Poly-functionalism

Which of the followings are the features of Administrative Development ? Select the correct
answer by using the code given below :

(a) Itis the development of administration
(b) Use of Information Communication Techniques
(c) Transparency and openness

(d) Increasing size of bureaucratic structure

Code :

(1) (a), (b) and (c)
(2)  (b), (c) and (d)
(®)  (a), (c) and (d)
4) (), (b) and (d)

Which one of the following is not an administrative feature of developing countries ?
(1) Dominated by the legacies of the past

(2) Resistance towards change

(3) Dominance of centralising tendencies

(4) Dominance of specialists in administration

International Bank for Reconstruction and Development commenced lending for India in
the year :

(1) 1947 2) 1948 (3) 1949 (4) 1950

Which of the following statements is/are not true of the highest decision making body of
WTO ? Select the correct answer from code given below :

(a) The highest decision making body of WTO is the Ministerial Conference.

(b) It usually meets every six months.

(c) It brings together the all members of WTO.

(d) It can take all decisions on matters under any of the multilateral trade agreements
Code :

(1) (a) only (2)  (b) only (3) (9 and (d) (4) (a) and (d)

a1 LT 2



23. Uk, Fow & oiqur frfafed § 9 o1 gaudta aare st fadan =& €2
(1) <FIFR ) foware
(3) W (4) TEA-TRaTETR
24. frefafead § § o wRmafTs o &t forivae €7 = T 7T e § §8t W &l =97 *
(a) IS YRIEA I fahd ©
(b) A GER Tehrlehi hl STAT
() IR 3R Geraa
(d) rRE gl SR § gig T
<< :
(1) (a), (b) 3R ()
(2) (b, (c) ¥R (d)
() () (0) ¥R (d)
(4 (a), (b) ¥ (d)
25. frefafea § @ an fasmstia < wt yemafe fagoma & €2
(1) 3T ! foEdi o1 99
(2) ARedH 1 fady
(3) htentol Geet gl i gEmE
(4) TemEA H foOe= S gUm
26. TICREA S B REHLRM T STAUHS 7 9RA i fohm o9 07 1 3TRey fopan 2
(1) 1947 (2) 1948 (3) 1949 (4) 1950
27. =g 2 3N ot Gate uig o oTelt Teen & Geiy § frefafed § @ S an wee we wd 2/ 2 9
QU 71T Fe 1 TR § Hal IW 1 FFT T
(a) T 3 3N At Hale o o aTelt Heen WA g
(b) THH! FSF AHIR W YIF B: AIE H Bt F
() IT T A 3N & Uit TS 1 TF WY A1l B |
(d) = fordt off agueie AR FHEd & STl 3T oTe] HHe R 9 YR & foia of g g1
<< :
(1) % (a) (2) F (b) () (0 3 (d) (4 (a) ¥R (d)
o [ F{ AU i




28.

29.

30.

31.

32.

Match List-I with List-II and select the correct answer with the code given below :

List-I List-1I

(Mughal institution) (Present institution)
(a) Sooba (i)  District
(b) Sarkar (i) State or Prant
(c) Pargana (iii) Collector or Head of the district
(d) Faujdar (iv) Tehsil
Code :

@ ®) © (@
O @ O ) G
@ O @ @) @)
@) () @) () 0
@ O @ @ G
Who is the ex-officio Chairman of the Civil Services Board in India ?
(1) Principal Secretary to PMO (2) Home Secretary
(3) Chairman of UPSC (4) Cabinet Secretary

Cabinet Secretariat is :
(1) Constitutional body (2) Line agency
(3) Staff agency (4) Auxiliary agency

People’s participation in governance has grown because of which of the following reasons ?
(a) Expansion of government responsibilities

(b) Economic diversification and resultant prosperity

(c) Explosion of knowledge and communication

(d) Failure of bureaucracy to meet growing demands

Select the correct answer by using code given below :

(1) (a) and (b)

(2)  (a), (b) and (c)
(3) (@), (c) and (d)
(4) (a), (b) and (d)

The Second Administrative Reforms Commission on “Organizational Structure of Government
of India” has recommended that the number of levels through which a file passes for a
decision should not exceed :

(1) Two (2) Four (3) Three (4) Five

a1 LT 1



28. geEit-1 ! Geit-11 § Afad HifSe | 1= fu T e § 92 39 1 =51 HifS

g1 Hei-11

( T TR ) (SEH HeRl)
(a) @) foem
(b) THR (i) T =G
(c) TUMI (iti) FHTEAl =1 TS sreae
(d) TRR (iv) deHr
<< :

@@ (b) (9 (d)
1) @ @ Gv) (i)
2 @ @ (@) (i)
®) (@) @) @) @
4 @@ (Gv) @) (i)

29. YA H i e S & U STEA A ¢ 2
(1) 99H 3 A w1 99 9=a - (2)  T§ |ied
(3) HH Ik Hell ST 1 31e& (4) dwHed |fee

30. Himvew Gfbarca f=ifed § 9 =g ?
(1) Haenfaes geen 2) T Afvs
(3) Wi AR (4) wHEE® AfUHT

31. WA H S YFERT e RO § 961 §, 94 :
(a) HIHRR 1 TSTHERET A1 foear
(b) eTffen fafafieRter SR s9h TROTHEEREY 3118 Fre
(c) T IR HYuo = foeme
(d) St | Rl G HA H ARt i foheran
fou T 5z 1 ST F FE I H T B
1) (@) ¥R (©)

2 (a), (b) 3R (c)
(3) (a), (o) &R (d)
4) (a), (b) ¥R (d)

32. ‘9Rd WHR % HSAHS G R fEda yemdftes gur S 3 oeien &t § fo foet fofa &
forn fondt wree o1 fSTa Tl | ToRAT =T 3! WE fohad @ SmeT =18t BT =fen 2
1 ) =R 3) = (4) U

)
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33. Which one of the following departments of Ministry of Finance is responsible for the
preparation of budget of Government of India ?
(1) The Department of Revenue
(2) The Department of Expenditure
(3) The Department of Economic Affairs
(4) The Department of Financial Services
34. Ajay Tyagi Committee set up under Department of Economic Affairs recommended for
which of the following ?
(1) Digital Payment
(2) Setting up of Financial Data Management Centre (FDMC)
(8)  Setting up of NITI Aayog
(4) Reconstitution of Krishna River Management Board (KRMB)
35. Which of the following is a subject included in the concurrent List of Schedule 7 of the
Constitution ?
(1) Railways (2) Post and Telegraphs
(38) Betting and Gambling (4) Population Control
36. Match List-I with List-II and select the correct answer by using code given below :
List-I List-1I
(Term) (Meaning)
(a) Recruitment (i)  Order for holding the position
(b) Selection (i) Attracting candidates for service
(c) Appointment (iii) Selecting the candidates for position
(d) Placement (iv) The office where the appointee is posted
Code :
@ ) © @
O @ 6 @ W)
@ 6 @ G ()
@) @ @ O )
@) @ @@ 6 @)
37. Training framework of the Probationers of Indian Foreign Services as per the framework of
the Ministry of External Affairs should not exceed a total period of :
(1) 12 months (2) 13 months (3) 14 months (4) 15 months
s T 1




33. fa=ifora § 9 fag 9omer o1 SiA-91 fa9m 9Ra TR & I91e sl 991 W & fau fear € 2
(1) TS faum
(2)
(3) oTIfeR e faum
(4)
34. Tfe amcl & faam & erria wenfua ete@ o |fafa 3 f= & 9 9o oo =t 82
(1) fefsea qmam
) Torfta stiehel Yore g (THSITAE) i T
(3) Hifd s 5 Tera
(4)

35. Trfafed § 9 sFA-91 fowg Sfaum it qae sTIg=t S 9ot g § |ftafed §?
1) Yod (2) T T aR
(3) WISl TH 3 4) SHE

36. G-I ! Gei-11 ¥ Fafaa Hifae | i ST 7T e ¥ F&t ST & F97 ST :

-1 Te-11
(¥1sg) (3tef)
(a) ol () TS % YR % AU smew
(b) = (i) 9a & faw stvafiEl 1 ereRfta we
(c) Tfe (iii) 9% % faw stwafel w1 == w
(d) friem (iv) e el R e =i H1 yeeenfyq fe=n s €
<
@@ () (9 (d
® @ @ @) ()
@ @ @ @) (i)
@) (@) @@ @ @)
4) (@) @@ @ (@)

37. WA faew Jar & uitensi= et s wfoer G3=m i Fof ety fagw 5™ & 2 &
3R freifeRa # | fhad e = e =nfea ?

(1) 129= 9 (2) 13HEH (3) 149EH (4) 159EH
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38. Which one of the following district is the smallest by territorial area in India as per 2011
census ?
(1) Central Delhi (2) Yanam (3) Mahe (4) Daman
39. Who narrated this statement, “Finance is as universally involved in administration as oxygen
is in the atmosphere “ ?
(1) Lord Hewart (2) David Lloyd George
(3) Morstein Marx (4) Davis Keith
40. Which one of the following pairs is wrongly matched ?
(1) Term of “Lokpal’ - Coined by Laxmi Mall Singhvi
(2) Creation of ‘Lokpal’ - Recommended by 15¢ ARC
(3)  First Lokpal Bill introduced - In the year 1968
(4) Lokpal and Lokayukta Act, 2013 - Commenced on 18" December 2013
41. The Second Commission on Centre State Relations Known as the Punchhi Commission was
appointed in the year :
(1) 2007 (2) 2010 (3) 1997 (4) 1999
42. Citizens’ perception of the state and its functionaries is primarily based on :
(a) Role as a service provider
(b) Role in providing a responsive interface between the citizen and the public services
(c) Role in improving the quality of administration
(d) Role as law enforcer and regulator
Select the correct answer from the code below :
(1) (b) and (0
(2) (9 and (d)
(3) (a), (b) and ()
(4) (@) (), ) and ()
43. Which of the following is not a department of the Ministry of Home Affairs ?
(1) Department of Boarder Management
(2) Department of Official Language
(3) Department of Social Defence
(4) Department of Jammu and Kashmir Affairs
s T "




38.

39.

40.

41.

42.

43.

freifeRd § A H 2011 o STUAT % STIR GFTfaie &5 3 YR W Fed Siel fe -1 § 2
1) ¥uga feeedt  (2) F™ (3) e (4) <wA

o Trelsdifes €9 9 TemeE B 3E T ol g7 BT § 9 YR stfardis araree | Ig et
HYT 7 ?

1) e g (2) <SfaedFe SiS (3) HEIA A (4) <fag w™
frefafea § 9 0 w2 gofea 761 €2

(1) ‘<lrepura’ s - A&Hl #el THeEell gr SR TR

(2) ‘<iRUTA’ R TS - TYH YeEieh GUR SR g e fman
(3) UYH WU fage qrEentud - a9 1968

(4) TrRUTd SR dregE sfufEm, 2013 - 18 fewwR 2013 w1 9RY foRan T

- T Tl W et tmeim, 98 gat st & &9 ® S S ©, bt fgfer forg ad & &t it 2
(1) 2007 (2) 2010 (3) 1997 4) 1999

T 3R 38 ATRIET & IR § AFIeR! i aeRon wafis &9 § forg W anenfia 2 €2
(a) e YT % €9 H Yfiehl

(b) MR SR S Fansii & o= H Teh Hogsiial Wishal SucTed hiH | gaan! fieht

(c) U i T[UrEl GUR § YfHeRT

(d) T AN A a1 IR fafames wai & 9 H e

1 QT 7T e 9 W I A1 =TI HIWC
(1)  (b) 3 ()

(2) () ¥R (q)

(3) (@) (b) R ()

4)  (a), (b), () R (d)

FrAifeRd § | - T8 T=erd 1 TaumT =& €2
(1) 9 yeigd fawm

(2) SIS T

(3) GRS faym

(4) 7 TS wRER HEed i faam
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44. Who

among the following is not part of the collegium recommended by the Second

Administrative Reforms Commission to recommend a panal of names to the Chief Minister/
Cabinet for the post of Chief Secretary ?

(1)
(2)
®)
4)

A Minister nominated by the Chief Minister

The incumbent Chief Secretary

The leader of the opposition in the State Legislative Assembly
Speaker of the State Legislative Assembly

45. Which of the following statements are correct regarding the members of Union Public Service
Commission. Select the correct answer by using code given below :

(@)
(b)

46. Who

The members can be removed by the President on the ground of misbehaviour.

The matter of misbehaviour of the members can be enquired by the Supreme Court or
the High Court.

The term misbehaviour concerning the members is still undefined.

The members can be removed even without the reference of the Court by the President
on ground of infirmity of mind or body.

defined research as “manipulation of things, concepts or symbols for the purpose of

generalizing, to extend, correct or verify knowledge, whether that knowledge aids in
construction of theory or practice of an art” ?

(1)
()

Einstein (2) Einstein and Infled
D. Slesinger (4) D. Slesinger and M. Stephenson

47. Folk Wisdom prevalent in a culture :

1)
)
(3)
(4)

May serve as a source of hypotheses
Reflects the value orientation of a culture
Denotes that value orientation of a culture is source of hypotheses

Does not relate to hypotheses in any manner

48. Pre-testing in research methodology means :

1)
()
(3)
(4)

a7

Testing of hypothesis
Testing the data collection instruments
Ensuring efficiency in data collection process

Maintaining standards in data analysic process
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44.

45.

46.

47.

48.

gt gemafeh GUR ST &1 fAwRie & oTER ffafed § 9 & §=1 9f9d & 18 & fag
ETH=/HeTHEe i A o U9 St TR HA & fTT IS Sl 9rT T&t 2l € 2

(1) HeIHs gr wAM Tk Hit (2) USEY HEA Hiwd

(@) A fouraw b fadt sa s A (4) O faumywn o stems

frafafed § § SF-9 Ho 99 e 991 ST o G6 o I H §af ¢ | 79 ST 7 Fe § T SW
1 =TI I :

(a) USH HI THATR h YR W T FRI @R Tohar S Fahall T |

(b) HSH % THATR % A hl Sd IoATH <A A I AT §RI ht S Fehedl ¢ |

(c) U= § Haifyd gedeRr wes o1+t off sTafief 31

(d) g 1 Ugafd g e o e % for ot wfiqss an IR St STereRd o SER W

AT TohaT T Tehd B

Eﬁ‘:

(1) (), (b) ¥R ()
(2)  (b), (c) ¥R (d)
(3) (), () 3R (d)
(4)  (a), (b), (c) ¥R (d)

ffafed o 9 fee 90 6 S, 39« fomR, & s1gen Sie & gdee o a%qs,
STAURONST AT Yllohi ol GG, STafch 98 JM FAGId St T I el & STE H el hidt
71 % ® H ST i uRkenfyd famam 2

(1) SEEH (2) STEEH Td RIS
(3) < wfFr (4) El. WIER T T LT
forelt F&pfa o yaferd e fade :

(1) uftereu % &d % &9 § e H Gkl ¢ |

(2) 9 Uwpfa % qou Afufa=ara =i aRafad s g

3) ¥ ffde *xa § for Seapfa o qea stfufemama ufteedn =1 &id 21
(4) e off e Q@ aRehedmn @ Heifyd =& g 2|

STHYM & gonelt § qd e § @ sAfiym ¥ 2

(1) afhed1 1 gdierm

(2)  3TihSl HUBUN UKL <hl ST

(3) kel FURY Ufshal | shriemd gHfe=d e
STinel foweroor gfshan ® Aehi 1 TR AT

a7 ||H|\|H||||||\||H||H\||||H|H|\|H|\|||H||\||\||\|\|II\ 2



49. Which one of the following is not correct regarding the process of editing of data ?
(1) Itis a process of scruitinising the data.
(2) Itis undertaken to improve the quality of data for coding.
(3) Editing helps to avoid coding problems.
(4) The coding is essential for tabulation of data.
50. Who initiated the process of introducing social planning in India ?
(1) J. L. Nehru (2) M. Visvesvarayya
(3) Sardar Patel (4) Mahatama Gandhi
51. Which of the following matters is not within the jurisdiction of Ministry of Social Justice and
Empowerment ?
(1) Affairs of persons with disability
(2) Affairs of Senior Citizens
(3) Affairs of Scheduled Tribes
(4) Affairs of Socially and Educationally Backward Classes
52.  Which one of the following is not a characteristic of Civil Society ?
(1) It is non-state actor/institution
(2) It enjoys autonomy and authority of state
(3) It persuades the interest of common man
(4) It facilitates citizens participation in governance
53. Which one of the following is a provision of ‘Right of children to Free and Compulsory
Education (Amendment) Bill 2017 ?
(1) Free and compulsory education for children between 6 and 15 years
(2) Specification of minimum norms in secondary schools
(3)  Acquisition of minimum required degree by unqualified teachers of schools
(4) Inclusion of a new Article 22A to the Constitution of India
54. Which one of the following is not a Maharatna Company ?
(1) Steel Authority of India Ltd. (SAIL)
(2) Oil and Natural Gas Corporation (ONGC)
(3) Coal India Limited (CIL)
(4) National Aluminium Company (NALCO)
s T S




49.

50.

51.

52.

53.

54.

frfafed § 9 ®F STihel & U o1 Uihd & g H Tel &l ¢ 2
(1) I 3Afhel h! HIE-Bie HT HI Th Ul T

(2) TUH FHedgdl % fau STiwe! i e H YR SR S ¥
(3) HURH ¥ FHedgdl THE § g9 | T fierd €

(4) TSl % WRUMEH o T Fedgal STavde ¢ |

fr=riford ®§ © forga vRa o wHTfSier fare 1 9fshan sl gy foman ?
(1) SaRdAeE (2) UH fow@wawa  (3) WER 9ed (4)  IRTCH TR

= | @ =9 o1 fowa gt = iR sifueriiar B & esfsr | TE § 2
(1) T & deifya w

(2) aftss ARl | Heifyd e

(3) SATYfad SISl 9 Geifed

(4) IR iR Srerforr &9 & fuse ot & defiq &

frefafad & 9 -1 T fafae aars =6 forio =& 8 2
(1) 38 IR-TTHRY Sl /T 7

(2) SHH R S WEAa @ wiEeR e §

(3) I SHH % fedl Sl TR A 7

(4) % YA § ARG Y IRISRT bl Fohs 1 §

frfafed 9 § & .30 @ stfer o fen-s1fuer (Henem) fagee, 2017 1 T 396y § 2
(1) 6¥ 1594 o d=dl o faQ M: Yo wd Alard fren

(2) Tt faemesl § =Fan wee @ fafdy

(3) Tormerdi & o7y Rerehi gR1 <A sruferd fedit i wiita

(4) WA Gfge™ § TU STes8 22 % 1 HHEYH

frefafed § ¥ &9 @ 7eRA P & © 2
(1) HRAE 3891 ifeeheor . (Je)
(2) o 3R rhfaeR T fm (SAsiE)
(3) &I sfean fafhes (HismETa)

T Tegfaf=m St (ATerh)
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55. Consider the Problems and drawbacks of Public Enterprises in India and select the correct
answer using the code given below :
(a) Political interference by the incumbent Government
(b) Low level of their operational efficiency
(c) Problem of Autonomy V/s Accountability
(d) Lack of innovative initiatives and research
Code :
1) (@) ®) () (d)
2 (), (o) (d)
(3 @ ®) (9
@ @ © @
56. ‘Start up India’ Programme was Launched on ?
(1) 15™ August 2015 (2) 15t August 2016
(3) 16" January 2016 (4) 26 January 2016
57. Which of the following is not an advantage of Goods and Services Tax ?
(1)  Unification and streamlining of manufacturing and sales
(2) Eradication of having multiple warehouses to avoid tax
(3)  Shifting of the focus towards increasing the quality of services
(4) Significant step in the field of direct tax reform
58. The System of Memorandum of Understanding (MOU) in Public sector was recommended
by which of the following ?
(1) First Administrative Reforms Commission
(2) Second Administrative Reforms Commission
(3)  N. Vithal Committee
(4) Arjun Sen Gupta Committee
59. Which of the following are the features of mixed economy in India ? Select the correct answer
from code given below :
(a) Private owenership of means of production
(b) Important role of market mechanism
(c) Presence of a Large Public sectors along with free enterprises
(d) Economic planning
Code :
(1) (a) and (d)
(2) (a), (b) and (©)
(3) (b) (c) and (d)
4) (), (b), (c) and (d)
s R 2




55. Rd H ook STl bl FEenst $iR i W faem e oiR fau T e 9§ T S A T Hife
(a) USE TLHR GRI TSI &
(b) TRt IREATCTHSE HIAETH 4 TR
(c) Tl SFM TSI hi FHE

(d) e Y8 Tsl SATHM i HHT

b),

—~

(d)

—_
~

C),
d
C

C),
b),

\—/\—/v\—/
—~~
/\A/\A

1) @
(2)  (b),
®) @
) (@)

A
v
v\_/

56. ‘W 39 sfean’ wsA fomg aiig sl YRy fomar = ?
(1) 15 3T 2015 (2) 15 30Rd 2016 (3) 16 el 2016 (4) 26 SFeRI 2016

57. frefafea § & owg oik Tar & 1 oy i T8 § 2
(1) fafafor siR faset 1 TR 3R TRefieRo
(2) HH I & fAC T TS @A 1 FHT
(3) Harsdl i A H FGT T SR LA T TR0
(4) YA F GUR H & H Tyl Hed

58. frfafaad § § freeh gr1 A= &= & SHgian 9199 Yoelt st FaeRer st =i ?
(1) 9| Y ER A& 2) Tgdfta wemafTe gur &
(3) . fagsa wfdfa (4) 3T B T wiatd

59. fr=fafed § 9 & 9Ra § fafya steferemen &t foRmad € ? = ST T e & 9 981 S| &1 =54
T

a) IAEH o el o fsit T

b) STSIR G ! TEqUl Yt

) I8d WS &5 o Y s SufEl S 3urefd

d) enfdew freH

e

(
(
(
(

(1)
(2)
(3)
@) (a), (b), () T (d)
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60.

61.

62.

63.

64.

Performance of Public enterprises can be assessed on which of the following criteria ?
(a) Profitability

(b)  Productivity

(c) Adherence to time schedule and cost effectiveness

(d) Satisfaction of the people at large

Select the correct answer from the code given below :

(1) (@), (b), (c) and (d)
(2)  (b), (c) and (d)
(3) (@), (c) and (d)
4)  (b) (a) and ()

Consider the following objectives of National Rurban Mission and select the correct answer
from the code given below :

(a) To stimulate economic development
(b) To improve basic services
() To create well planned Rurban clusters

(d) To create a cluster based development with a rural soul and urban amenities

(1) (c) and (d)

(2)  (b), (c) and (d)

(3) (@), (b), (c) and (d)
4) (@), (c) and (d)

Which of the following Commission recommended for establishment of National Institute of
Public Administration ?

(1) M.M. Punchhi Commission

(2) First Administrative Reforms Commission
(3) Second Administrative Reforms Commission
(4) National Law Commission

14 Finance Commission recommended Basic and Performance grant in the ratio of 80:20
percent to which of the following ?

(1) Panchayats (2) Municipalities
(3) States (4) Sick Public Sector Units

The formation of “District Council’ was recommended by 2"d ARC in which of its following
Reports ?

(1) 11th (2) 12th (3) 13th (4) 15th

a1 LT 2



60.

61.

62.

63.

64.

Aeh STUI o AR 1 ishetq F=fafad § A foh AHeuel W fohan < Fendt € 2
(@) YT
(b)  3cHICehdl
(c) HHI RO 3R AN FHTSehTT SIRRISE|
(d) T R HfE
= ST 7T e ¥ WE IR A1 T HIWT
(1) (), (b)) 3R (d)
2 (b), () ¥R (d)
), (c) ¥ (d)

(b
3 (a
(4) (b), (a) ¥R (0)

TP E-37e fiee & freifera seeal W foaem ifse &R F= feu 7T Fe &l 7eg § 9@ S| &
EREicTE

(a) 3Tffer ford sl AR KT

(b) Hifcren darel § gER

(c) YA 316 Tei &1 o

(d) TTET ST SR IRl glawnsti ¥ gaa g onenid fasr 1 g

(1) (c) ¥R (d)

2) (), () ()

() (), (b), (c) ¥R (d)

4 (a), () 3R (d)

fFrefofiad o 9 fhe SR 3 TS ok GO HEM it SIT9A1 <t STIUHT hi 2
(1) THTH 3T M (2) HUH YRMEE ER AR

(3) Tedia ymEiTF GUR SR @) T fafy smm

14 o foaa emm = f=fafea § 9 fegs faw ga don st & faw 80:20 gfawd o s1ua
T T hi ST i & 2

(1) dHerrd & foag (2) TRuferRe & fag

(3) Tl & forg (4) T T SUHH THISAT oh T

fgdta gemafer GurR 1 g 319 ford gfdecd o e wRfae’ o e ot fawmiiet o6t it off ?
1 119 2) 129 @) 139 (4) 159
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65. Which of the following statements are true of National Capital Region (NCR) ? Answer by
using code given below :
(a) NCR is an urban region only
(b) NCR is a rural-urban region
(c)  Atotal of 22 districts of three states (Haryana, Uttar Pradesh and Rajasthan) are included
in NCR
(d) National Capital Territory is also a part of NCR
Code :
(1) (b), () and (d) ) (@), (b)and (©)
(3) (@), (b), (@ and (d) (4) () and (d)
66. Which one of following statements is not correct about Lasswell’s vision of policy sciences ?
(1) It is multidisciplinary (2) Itis descriptive
(3) It is contextual (4) It is problem-oriented
67. Who made the statement that ‘Public Policy is not a decision ; it is a course or pattern of
activity” ?
(1) Thomas R. Dye (2) Richard Bose
(3) Robert E. Stone (4) Robert Lineberry
68. The ‘policy science” as a social science discipline and practice emerged with the publication
of Harold Lasswell’s essay in 1951. Which one of the following is correct title of that essay ?
(1) The Policy Orientation (2) The Policy Sciences
(3)  The Policy Approaches (4) The Policy and Democracy
69. Live Stock Plays a vital role in Rural Development. Which of the following statements in this
regard is not correct ?
(1) It helps generate gainful employment.
(2) It helps the landless, the small and marginal farmers.
(38) It provides nutrition and food security to the country.
(4) It raises the social status in the caste-hierarchy.
70. Which of the following are the components of rural development policy ?
(a) Self-reliance
(b)  Distributive justice
(c) The means of production and appropriate technology
(d) Man and his environment
Select the correct answer from the code below :
(1) (@), (b), ) and (d) (2) (a), (b) and (©)
(3) (b), () and (d) (4) (@) and ()
s T 2
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frefafed # @ ®F-8 w9 T T9UE 89 % 9R H 98 € 2 9 feu T e @ w3 w1 5o

ST

(a) T TS &5 Hael Th Il & §

(b) T AL & Th TTH0-IR &5 §

() o T (=, ST e 3iR Tere™) & Fa 22 el 1 T TS & | wnfiet foman
TR

(d) TS T TS T T &5 H Tk 90T ot ©

<

1) (®) (0 () 2) (a) (b) T (o)

3) (@), () (c) T (d) 4 (W)

frafafed § 9@ = FeA dad & ‘fasm 31Td qifed TEds’ & 9) § 98l 76l § 2
1) TIRETEFT (2) I|IAEKE  (3) TWYEMFRT  (4) IS IHAE T

frfafed ® 9 fre 98 oaqea fean T <l ifa ws fofa 72 &; =e nifafafy =1 = 0 =1 usfa
7'
(1) oMEs e (2 =™ 3) Tele €. €M 4) Yo aETad

ST T foen wo ervamg & w9 | CHifd fogm’ 1 a9 1951 § e d&ad & 64 & JeheH
& Ty sTfavie gem | ffafaa § | S ST e o1 9 v 82
(1) ifq stfafe=ama (2)  Aifad fomm (3) ifd surH (4) ifq o gemad

ITeoT fehre | we oot feet fr ¥ 1 39 deiy § frefafed § @ wF-91 we e @ § 2
(1) I8 Y USHR G H HRAAT HLdl 7

(2) ¥ RN, T SR HE a5 e e |

(3) TT I I U0 SR W AT Suere] HIAl ¢ |

(4) I S IEMAE H WA gfasel § gig w g

freifetiad & @ S-S e ok i % Tew §2

(a)  SATH-TAva

(b)  AFHw =

(c) SCURH I AIeAd IR THfaa Yrenfient

(d) THa 3R 3" giEw

T ST T Fe T WE W H T I ;

(1)  (a), (b), () ¥R (d) (2) (a), (b) ¥R ()
(3) (b), (c) ¥R (d

) ) 4
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71. Chronologically arrange the following programmes for the amelioration of the socio-economic
conditions of the rural population in India :

(a) Integrated Rural Development Programme
(b) Community Development Programme

(c) Twenty-point Programme

(d)  Food for Work Programme

Code :
1) (@) (b) () (d) 2) (), (©), (d) @)
3) (@) () (b) @ 4) () (b), (@) (d
72. Who among the following recognise administration as a fourth branch of government ?
(1) Woodrow Wilson (2) L.D. White
(3) W.F. Willoughby (4) John Pfiffner

73.  Which one of the following is not a part of supervision ?
(1) Superintendence of the work of subordinates
(2) Direction accompanied by authority
(3) Observation of authority
(4) Delegation of authority

74. In which of the following years the Parliament enacted the All-India Services Act ?
(1) 1950 (2) 1952 (3) 1951 (4) 1956

75. Match List-I with List-II. Select the correct answer from the code given below :

List-I List-1I
(Main characteristic of the USA Personnel Administration) (Period)
(a) Guardian Bureaucracy @i 1937-1955
(b) Administrative Management (i) 1789-1829
(c) Professional Career (iii) 1829-1883
(d) Spoils system (iv) 1955-1970

Code :

@@ () (o (d
O @O @@ @)oo @)
(2 @) @ (v) (i)
@) @) @@ o (v) (i)
(4) (@) (@(v) @ (i)
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71.

72.

73.

74.

75.

frefafed wreishdl sl YRA § T STeTel ohi SreTfsieh—3Tfeier feurfaai  gur o STUR ieshd |

(b) EHEIHS faehm wriwH
(c) o9 gt wrishH
(d) A & fau AsE wEE
<
(1) (@), (b), (0), (d) 2 (®) (), (d), (a)
(3)  (d), (0), (b), (a) 4)  (0) (b), (a), (d)
freiferd B @ SiF I8 Fed € o Joned TR i =gd e 2
1) T=U faemm (2) TS =E
(3) =g, . Tt (4) S IR
Freifend o 9 R TFOETOT BT 9T A& © 2
(1)  STefieeeli o S a1 STefteqo
(2) ¥ wfeq A
(3) Hdl I SAeIATHA
(4) G H YAESH
Freiferd o 9 form o H9g g1 AfEa vRdE e sifufm stfufafia feran T on?
(1) 1950 (2) 1952 (3) 1951 (4) 1956
Heit-1 %1 Geit-11 | AT it | ==l feq 7Y 2 @ HEl ST 1 =2 HifT
-1 Tl -11
( 3T o hiftich TITET shi YHE fagiear ) ( 3rafyr)
(a) AR ARl i) 1937-1955
(b) TN TeiY (i) 1789-1829
(c) AT ik (i) 1829-1883
(d) < Yot (iv) 1955-1970
<
@@ (b) (9 (d)
1) @ @) @) Q)
(2) (@) @) (@v) (i)
) (@) @@ @Gv) (i)
(4) @) (@Gv) @) (i)
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